Bellwork  Monday, December 11, 2017
1. Find the coordinates of the Vertex and Focus and equation of the Directrix: x+7 = ——g—(y +2)?
Vertex: Focus: Directrix:

2. A triangle has a perimeter 13. The two shorter sides have integer lengths equal to x and x + 1. Which of
the following could be the length of the other side?
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1. Find the coordinates of the Vertex and Focus and equation of the Directrix: x+7 = —%(y +2)2
Directrix: y -~ .@'7/20
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2. A triangle has a perimeter 13. The two shorter sides have integer lengths equal to x and x + 1. Which of

the following could be the length of the other side?
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